

### **Agenda Item Details**

Meeting

Feb 27, 2017 - Regular Meeting

Category

7. Consent Agenda

Subject

7.9 Renewal of ITB 16-04: Network Infrastructure Equipment E-Rate, presented by

Vince Windham, Program Director, Purchasing, and recommended by the

Superintendent for approval.

Access

**Public** 

Type

Action (Consent)

Fiscal Impact

Yes

Budgeted

Yes

Budget Source General Funds, Project 5150, Digital Classrooms

Recommended Motion to approve the renewal of award for ITB 16-04 Network Infrastructure

Action

Equipment E-Rate.

## **Public Content**

Request approval to renew the award for ITB 16-04 Network Infrastructure Equipment E-Rate. The awarded vendor is PC Solutions & Integration, Inc., based on fixed pricing. Services will be used on an as needed basis and will be paid from General Funds, Project 5150 Digital Classrooms. Copies of the vendor renewal confirmation letter and original tabulation are attached.

For additional information, please contact Eric Mitchell, Director, MIS & Instructional Technology at (850) 689-7184.

RENEWAL OF ITB 16-04.pdf (705 KB)

# **Administrative Content**

Our adopted rules of Parliamentary Procedure, Robert's Rules, provide for a consent agenda listing several items for approval of the Board by a single motion. Documentation concerning these items have been provided to all Board members and the public in advance to assure an extensive and thorough review. Items may be removed from the consent agenda at the request of any board member.

## **Motion & Voting**

Motion to approve the Consent Agenda and all of the Consent Agenda items as recommended by the Superintendent

Motion by Dewey Destin, second by Tim Bryant.

Final Resolution: Motion Carries

Yes: Tim Bryant, Dewey Destin, Melissa Thrush, Lamar White



# SCHOOL DISTRICT OF OKALOOSA COUNTY

SUPERINTENDENT OF SCHOOLS MARY BETH JACKSON

ATTORNEY TO THE BOARD C. JEFFREY McINNIS, Esq.



BOARD MEMBERS DEWEY DESTIN CATHY THIGPEN MELISSA THRUSH RODNEY L. WALKER LAMAR WHITE

Aberto Libertale State at a secu

February 6, 2017

PC Solutions & Integration, Inc. Attn: Viv Gordon 4937 SW 75 Ave Miami, FL 33155

Ms. Gordon:

On March 14, 2016 The School Board of Okaloosa County, Florida approved the award of ITB 16-04 Network Infrastructure Equipment E-Rate. The original award was for the period of May 1, 2016 through April 30, 2017.

Bid terms stated that the School Board has the option, with the consent of the successful vendor, to renew the bid for three (3) additional one (1) year periods. We would like to request that this bid be renewed for the period of May 1, 2017 through April 30, 2018.

Please check one of the responses below indicating your decision regarding this request. Sign and return this letter, along with a completed copy of the enclosed Federal Debarment Certification to my attention, no later than Friday, February 10, 2017. To expedite, feel free to email your response to Shanna Duncan at shanna.duncan@mail.okaloosa.k12.fl.us, or fax to 850-833-6327.

Please fax a current Certificate of Insurance form for your business to the Risk Management Department at 850-833-3195. All contractors must continue to comply with the insurance requirements as provided in the original bid documents. If your Certificate of Insurance is current, or was not a requirement in the original bid documents, please disregard.

Thank you for your consideration. We look forward to doing business with you for another year.

Vince Windham,
Program Director of Purchasing

I agree to renew the bid adhering to original terms and conditions, including pricing for an additional one-year period through April 30, 2018.

I decline to renew the bid for an additional one-year period.

Signature

Dav Dave Date Date Date

\*Note: Must be signed by an officer or employee having the authority to bind the company or firm.

ADMINISTRATION COMPLEX-120 LOWERY PLACE S.E.-FORT WALTON BEACH, FLORIDA 32548
TELEPHONE (850) 833-3400 FAX (850) 833-3436

CATEGORY	ITEM NUMBER	DESCRIPTION	OTY	PC Solutions	2 loves allon	Dannatek, Inc.		Synergetic	e presentati	Extens	vs. Inc
CATEGORI	TI EM NOMBER	BESOKII MON		Brand Extren		Brand: Extr		Brand Extre		Brand: Cisc	
DOLITEDS				Later Market		Bialiu. Exti	entie	and the second second	denomination and the comment	Brana. Cisc	
ROUTERS	SSA-T8028-0652	S-Series S180 Class Standalone (SSA) - 48 Ports 10/100/1000BASE-T via RJ45 and 4 ports 10GBASE-X via SFP+, Front to Back cooling (Power supplies not included)	5	(3:393)-50	\$2. EZ. 50)	\$14,758.88	\$73,794.40	Sig(F) (E)	¥77.84°-2-34)	\$12,425.00	\$62,125.00
	SSA-G8018-0652	S-Series S180 Class Standalone (SSA) - 48 Ports 1000BASE-X via SFP and 4 ports 10GBASE-X via SFP+, Front to Back cooling (Power supplies not included)	5	हें के संबंधित हैं की क	*** 992530	\$14,758.88	\$73,794.40	56.77.16 34.14.16	5777 (375) <b>3</b> 7	\$12,425.00	\$62,125.00
		S-Series Standalone (SSA180 Front to Back) - AC power supply, 15A, 100-240VAC input, I/O side exhaust	5	\$208.50	\$11042.50	\$449.61	\$2,248.05	#\$47.127	32.35a.55		
		S-Series Standalone (SSA180 Front to Back) - AC power supply, 15A, 100-240VAC input, I/O side intake	5	5208.50	\$1,042.50	\$449.61	\$2,248.05	(本語版学問題 (本語 1275) (本語 1886)	182.36635 182.36635		
		SSA150 and SSA180 double user capacity license	5	\$1,498.50	57,492.50	\$3,199.06	\$15,995.30	\$3.017.81	\$15,089,05		
	5601313-U1	Pwr Cord, 13A,NEMA 5-15P,C13	5	<b>建設: \$7(50%)</b>	學的\$37,50年。	\$16.18	\$80.90	\$16.96 聯	#1584.80 #		
		S-Series S180 Class Standalone (SSA - I/O side exhaust) (TAA Compliant) - 48 Ports 1000BASE-X via SFP and 4 ports 10GBASE- X via SFP+, 2 power supplies, fans included	5	\$8,548,50	\$42,742.50	\$18,282.90	\$91,414.50	\$19:(63.3)	\$95,816.55		
	SSA-G8018-B-G	S-Series S180 Class Standalone (SSA - I/O side intake) (TAA Compliant) - 48 Ports 1000BASE-X via SFP and 4 ports 10GBASE- X via SFP+, 2 power supplies, fans included	5	\$8,548,50	\$42,742.50	\$18,282.90	\$91,414.50	\$19.163.31	\$95,816,55		
	SSA-T8028-A-G	S-Series S180 Class Standalone (SSA - I/O side exhaust) (TAA Compliant) - 48 Ports 10/100/1000BASE-T via RJ45 and 4 ports 10GBASE-X via SFP+, 2 power supplies, fans included.	5	\$8,548,50	\$42,742.50	\$18,282.90	\$91,414.50	\$19,464,31	\$95,816.55		
	SSA-T8028-B-G	S-Series S180 Class Standalone (SSA - I/O side intake) (TAA Compliant) - 48 Ports 10/100/1000BASE-T via RJ45 and 4 ports 10GBASE-X via SFP+, 2 power supplies, fans included.	5	\$8,548.50.2	\$42,742.50 page 24m2.jpm	\$18,282.90	\$91,414.50	\$19,163.31	\$95,816,55		
	SSA-WALL-MOUNT	SSA S130, S150 and SSA180 class Wall Mount Bracket	5	\$105.00	\$525.00	\$226.42	\$1,132.10	\$213.59	\$1,067.95		
		Optional Rack Mount Kit for the SSA180 'Front to Back' models.	5	310500 B	\$525.00	\$226.42	\$1,132.10	\$2(16):59	\$1,067,95		
SWITCHES		V400 00 04 40054 5				00 555 40	6040 004 70		Investor Personal	<b>#E 200 00</b>	6477 E40 00
	16703	X460-G2-24p-10GE4-Base-Unit	90	%\$1,650.00 #			\$319,961.70				\$477,540.00
	16704	X460-G2-48p-10GE4-Base-Unit	50	\$2,430.00 m			\$261,014.50				\$484,200.00
	16718	X460-G2-24p-GE4-Base-Unit	1	*\$1,201.50					\$2,715.70		\$1,600.00
	16719	X460-G2-48p-GE4-Base-Unit	1		\$1,981.50				\$4,468.63	\$2,700.00	\$2,700.00
	16421	Summit X460 Advanced Edge Lic		*# \$298.50 M*					\$93,511.60		
	16422	Summit X460 Core License from Edge Lic	140		\$125,790.00		\$268,541.00				
	16423	Summit X460 Core License from Adv Edge	140	\$598.50	* \$83,790.00	\$1,277.70	\$178,878.00	<b>₩</b> 1,339,23	<b>3 167,492,20</b>		

RΥ	ITEM NUMBER	DESCRIPTION	QTY	<b>PC</b> iSolutions	& Integration	Dannat	tek, Inc.	Synergetic		Extens	ys, Inc
1	10311	0.5m QSFP+ Passive Copper Cable	50	<b>新</b> \$75.00 #	据\$3750.00章	\$161.73	\$8,086.50	編集169時2周	ASSET/5.007	Included	
	10312	1m QSFP+ Passive Copper Cable	50	\$97.EU	MS487500M	\$210.25	\$10,512.50	#S220/88 #		\$80.00	\$4,000.00
- [	10313	3m QSFP+ Passive Copper Cable	50	O CHEE		\$320.22	\$16,011.00			\$100.00	\$5,000.00
	10323	5m QSFP+ Passive Copper Cable	1	<b>F7033</b> F6	<b>编5208 50</b> 糖	\$449.61	\$449.61			\$150.00	\$150.00
	16710	Summit X460-G2 VIM-2q	1	<b>199465040</b>		\$1,614.06	\$1,614.06	\$51  591  E016		Included	
	16711	Summit X460-G2 VIM-2x	1	e Prisi	第 5298 50 開	\$643.68	\$643.68	B1867/4169 B		Included	
	16712	Summit X460-G2 VIM-2t	1	##6418 50 <b>##</b>		\$902.45	\$902.45	4894592	1883年62世	Included	
-	16713	Summit X460-G2 VIM-2ss	1	1651/850F/	<b>HORSON</b>	\$384.92	\$384.92	# <b>\$</b> 403,45 <b>1</b>		Included	
	10941	Summit 1100W PoE AC PSU FB	24		基本/864/00第	\$708.38		<b>重要5742/49 計</b>		Included	
	10942	Summit 1100W PoE AC PSU BF	24	*\$328.50 m	46\$7,884.00	\$708.38		學\$742,49 編		Included	
	10951	Summit 715W AC PSU FB	24	\$268.50 編集	#86.444.00 a	\$578.99		\$606 88 M			
	10952	Summit 715W AC PSU BF	24	\$\$268,50	\$6,444.00	\$578.99		#\$606.88 4			
	10943	Summit 300W AC PSU XT BF	24	第148.50 和	\$3,564.00	\$320.22	\$7,685.28		#68,05586#		
L	10944	Summit 300W DC PSU XT BF	24	\$238,50周期	#\$5724.00%	\$514.30	\$12,343.20		\$12,937,68		
	10945	Summit X460-G2 fan module FB	140	- 1 588 50 6 6	\$12,890.00	\$190.84	\$26,717.60		\$28,004.20	Included	
	10946	Summit X460-G2 fan module BF	1	<b>测数\$88.50</b> 测数	***\$88.50 <b>**</b> *	\$190.84	\$190.84		第5200.03 離	Included	
	16106	Stacking Cable, 0.5M	50	\$58,50	\$2,925.00	\$126.15	\$6,307.50		素661100素	Included	
[	16107	Stacking Cable, 1.5M	50	\$88.50	\$4,425.00	\$190.84	\$9,542.00		<b>\$10,001.50</b>	\$80.00	\$4,000.00
ſ	16108	Stacking Cable, 3.0M	50	\$118.50	\$5,925,00	\$255.53	\$12,776.50		*\$12,053.00	\$110.00	\$5,500.00
ſ	16105	Stacking Cable, 5.0M	50	\$148.50	\$7,425.00	\$320.22	\$16,011.00	\$302.08	\$15,104.00		
	10099	Power Cord, 13A, USA, NEMA 5-15, IEC320- C15	140	57.50	\$1,050.00	\$16.18	\$2,265.20	\$16.96	52 374 40	Included	
	10061	Pwr Cord,10A,NEMA 5-15P,IEC320-C13	140	\$4.50	\$630.00	\$9.71	\$1,359.40	× \$10.18	\$1,425.20	Included	
	D2G124-12	12-port 10/100/1000 policy-enabled switch with 2 SFP combo ports and power brick	1	\$388.50	₩ \$388.50 c.	\$837.76	\$837.76	\$878.11	\$878.11	\$799.00	\$799.00
İ	D2G124-12P	12-port 10/100/1000 PoE policy-enabled switch with 2 SFP combo ports and PoE power brick	8	\$568.50	\$4,548.00	\$1,225.91	\$9,807.28	\$1,284.96	\$10,279,58	\$1,024.00	\$8,192.00
Ì	D2-PWR	D2 EXTERNAL POWER BRICK	8	\$34,50	\$276.00 #	\$74.40	\$595.20	\$77.98	\$623.84		
	D2-PWR-POE	EXTERNAL POE POWER BRICK FOR D2 SWITCHES	8	\$88.50	\$708.00	\$190.84	\$1,526.72	\$200.03	\$1,600,24		
ı	10061	Pwr Cord,10A,NEMA 5-15P,IEC320-C13	8	\$4.50 L	##\$36.00 PM	\$9.71	\$77.68	\$10.18	\$81.44	Included	
	D2-RMT	Rack Mount Kit for 8 Port Switches	8	\$46.50	\$372.00	\$100.27	\$802.16	\$105.10	\$\$40.80	\$24.00	\$192.00
	10070H	10/100/1000BASE-T SFP, Hi	8	\$88.50 km	\$708.00	\$190.84	\$1,526.72		\$1,600,247	\$395.00	\$3,160.00
	10051H	1000BASE-SX SFP, Hi	8	\$148.50	<b>\$1,188.00</b>	\$420.22	\$3,361.76		\$2,685,12	\$500.00	\$4,000.00
	10071H	1000BASE-SX SFP 10 Pack, Hi	1	\$885.00	\$4.\$885.00	\$1,908.41	\$1,908.41		<b>\$2,000.32</b>	\$500.00	\$500.00
	10052H	1000BASE-LX SFP, Hi	8	\$298.50	\$2,388.00	\$743.68	\$5,949.44		#\$5,397,52	\$1,200.00	\$9,600.00
	10072H	1000BASE-LX SFP 10 Pack, Hi	1		\$1,785.00	\$3,843.49	\$3,843.49		\$4,028.93	\$1,200.00	\$1,200.00
	MGBIC-LC01	1 Gb, 1000Base-SX, IEEE 802.3 MM, 850 nm Short Wave Length, 220/550 M, LC SFP	1	\$148.50	\$148.50	\$320.22	\$320.22	9886 921	\$335.642	\$191.00	\$191.00
	MGBIC-LC01-G	1 Gb, 1000Base-SX, IEEE 802.3 MM, 850 nm Short Wave Length, 220/550 M, LC SFP, TAA	1	5 (48.50	\$148.50	\$320.22	\$320.22	3935.64	SSSC 64	\$191.00	\$191.00
	MGBIC-LC03	1 Gb, 1000Base-LX, MM, 1310 nm Long Wave Length, 2Km w/62.5 MMF, 1 Km w/50 MMF, LC SFP	1	<b>52</b> 45,50	\$253.50	\$514.30	\$514.30	35%9,07	5558 07/	\$379.00	\$379.00
	MGBIC-LC09	1 Gb, 1000Base-LX, IEEE 802.3 SM, 1310 nm Long Wave Length, 10 Km, LC SFP	1	\$298.50	5298.50	\$643.68	\$643.68	\$674.69	\$674.69	\$379.00	\$379.00
	MGBIC-LC09-G	1 Gb, 1000Base-LX, IEEE 802.3 SM, 1310 nm Long Wave Length, 10 Km, LC SFP, TAA	1	\$298.50	\$298.50	\$643.68	\$643.68	\$674,69	\$674)69	\$379.00	\$379.00

RY	ITEM NUMBER	DESCRIPTION	QTY	PC Solutions	nolitarigetraß	Dannat	ek, Inc.	#Synergetic	Selfor Selform	Extens	sys, Inc
		1 Gb, 1000Base-T, IEEE 802.3 Cat5, Copper Twisted Pair, 100 M, RJ 45 SFP	1	.:::	1::36	\$190.84	\$190.84	-201 (6)	SHIDE	\$151.00	\$151.00
		1 Gb, 1000Base-LX/LH, IEEE 802.3 SM, 1550 nm Long Wave Length, 80 KM, LC SFP	1	G Cisto	¥ (83):1.7.1	\$2,584.44	\$2,584.44	* 70 mm	× 70: 12	\$379.00	\$379.00
		1 Gb, 1000Base-BX10-D Single Fiber SM, Bidirectional, 1490nm Tx / 1310nm Rx, 10 Km, Simplex LC SFP (must be paired with MGBIC-BX10-U)	1	\$2.7/1	×45×n	\$710.96	\$710.96	7/5/6	<b>7/4</b>	\$379.00	\$379.00
		1 Gb, 1000Base-BX10-U Single Fiber SM, Bidirectional 1310nm Tx / 1490nm Rx, 10 Km, Simplex LC SFP (must be paired with MGBIC- BX10-D)	1	33297/0	10 10 10 10 10 10 10 10 10 10 10 10 10 1	\$710.96	\$710.96	- <b>7</b> /.15/./1	7/621	\$379.00	\$379.00
		1 Gb, 1000Base-BX40-D Single Fiber SM, Bidirectional, 1490nm Tx / 1310nm Rx, 40 Km, Simplex LC SFP (must be paired with MGBIC-BX40-U)	1	5898.50	3898 50 3898 50	\$1,937.52	\$1,937.52	52 05l0 84		\$379.00	\$379.00
	MGBIC-BX40-U	1 Gb, 1000Base-BX40-U Single Fiber SM, Bidirectional, 1310nm Tx / 1490nm Rx, 40 Km, Simplex LC SFP (must be paired with MGBIC-BX40-D)	1	\$898.50.II	\$898.50°	\$1,937.52	\$1,937.52	\$200034	-12,030,84	\$379.00	\$379.00
	MGBIC-BX120-D	1 Gb, 1000Base-BX120-D Single Fiber SM, Bidirectional, 1590nm Tx / 1490nm Rx, 120 Km, Simplex LC SFP (must be paired with MGBIC-BX120-U)	1	\$2,098,50	32,098,50	\$4,512.59	\$4,512.59	34.730.44	94,730.445	\$379.00	\$379.00
		1 Gb, 1000Base-BX120-U Single Fiber SM, Bidirectional, 1490nm Tx / 1590nm Rx, 120 Km, Simplex LC SFP (must be paired with MGBIC-BX120-D)	1	\$2,098.50	\$2,098.50	\$4,512.59	\$4,512.59	\$4,730,44	54,7510,44		
	10301	SR SFP+ Module	1	\$358.50	\$358.50	\$773.07	\$773.07	\$6810.30	\$810.30		
	10302	LR SFP+ Module	1	\$598.50	\$598.50	\$1,290.60	\$1,290.60	\$1,352.77	\$1,352.77		
	10303	LRM SFP+ Module	1	\$525.00	\$525.00	\$1,132.11	\$1,132.11	\$1,186.63	\$11186.63		
	10304	SFP+ Cable Assembly 1M	1	\$36.00	\$36:00	\$77.62	\$77.62	\$81.37			
	10305	SFP+ Cable Assembly 3M	1	\$49.50	\$49.50	\$106.72	\$106.72		**\$111.88.		
ĺ	10GB-USR-SFPP	10GB, 10GBASE-USR MM 850nm, LC SFP+	1	\$328.50	\$328.50	\$673.21	\$673.21	\$705.67	\$705.67		
	10GB-USR-48PK	10GB, 10GBASE-USR MM 850nm, LC SFP+ 48 Pack	1	\$10,008.00	\$10,008.00	\$21,397.30	\$21,397.30	522 (29 17	\$22,429,17		
	10GB-SRSX-SFPP	10GB / 1GB DUAL RATE, MM 850nm 10GBASE-SR / 1000BASE-SX, LC SFP+	1	\$690.00 M	\$690,00	\$1,487.91	\$1,487.91	\$1,403.62	\$1,400.62		
	10GB-SR-SFPP	10 Gb, 10GBASE-SR, IEEE 802.3 MM, 850 nm Short Wave Length, 33/82 M, LC SFP+	1	# \$358 50 by	\$858.50	\$773.07	\$773.07	\$8(0.80)	\$810.30		
	10GB-LRM-SFPP	10 Gb, 10GBASE-LRM, IEEE 802.3 MM, 1310 nm Long Wave Length, 220 M, LC	1	\$3525,001 ***********************************	5,525,00	\$1,132.11	\$1,132.11	\$1 186 63 1 186 63	<b>可能够有品类的创始是主机</b>		
		10GB, LRM, MM, SFP+, TAA	1	\$525.00	\$525.00	\$1,132.11	\$1,132.11	\$1,067,97	\$1,067,97		
	10GB-4-F10-QSFP	10Gb Active optical direct attach, 4 SFP+ to 1 QSFP+ transceivers, 10m	1	\$558,50	\$568.50	\$1,225.91	\$1,225.91	SI 156.46	\$1,156,46		
	10GB-4-F20-QSFP	10Gb Active optical direct attach, 4 SFP+ to 1 QSFP+ transceivers, 20m	1	S7783-50	\$778.50	\$1,678.75	\$1,678.75	#5( 585,65)	\$1,586)65		
	10GB-F10-SFPP	10Gb, Active optical direct attach cable with 2 integrated SFP+ transceivers, 10m	1	\$165.00	\$165.00	\$355.80	\$355.80	\$37/2.94	SS772/924		

CATEGORY	ITEM NUMBER	DESCRIPTION	QTY	PO Solutions	& Integration	Dannat	ek, Inc.	a Synergetic	s DCSMick	Extens	ys, Inc
	10GB-F20-SFPP	10Gb, Active optical direct attach cable with 2 integrated SFP+ transceivers, 20m	1	7210100	72.000	\$517.53	\$517.53		35.0		
	10GB-C01-SFPP	10Gb, pluggable copper cable assembly with integrated SFP+ transceivers, 1 meter	1			\$77.62	\$77.62	- 335 l \$17			
	10GB-C03-SFPP	10Gb, pluggable copper cable assembly with integrated SFP+ transceivers, 3 meters	1		(219) i.u.	\$106.72	\$106.72	. Still ii:			
	10GB-C10-SFPP	10Gb, pluggable copper cable assembly with integrated SFP+ transceivers, 10 meters	1	5° 10° 18° 18° 18° 18° 18° 18° 18° 18° 18° 18		\$155.23	\$155.23	34.32.73	3.62		
	10GB-BX10-D	10Gb, Single Fiber SM, Bidirectional, 1330nm Tx / 1270nm Rx, 10 Km, Simplex LC SFP+ (must be paired with 10GB-BX10-U)	1	\$898.50 3448	\$898.50	\$1,937.52	\$1,937.52	. 72 (0)s(0) ; £.	7. 050 xx1	\$724.00	\$724.00
	10GB-BX10-U	10Gb, Single Fiber SM, Bidirectional, 1270nm Tx / 1330nm Rx, 10 Km, Simplex LC SFP+ (must be paired with 10GB-BX10-D)	1	S898 50	5898 50 This state of the state	\$1,937.52	\$1,937.52	1572,036,521 1572,036,521 1500,000	25 (0.50) See	\$724.00	\$724.00
	10GB-BX40-D	10Gb, Single Fiber SM, Bidirectional, 1330nm Tx / 1270nm Rx, 40 Km, Simplex LC SFP+ (must be paired with 10GB-BX40-U)	1	552 G28 -10 11 552 G28 -10 11	# \$2.098.50	\$4,524.45	\$4,524.45	<b>地域数</b> シア60公 ・・・・・・・・・・・・・・・・・・・・・・・・・・・・・・・・・・・・	**************************************	\$2,765.00	\$2,765.00
	10GB-BX40-U	10Gb, Single Fiber SM, Bidirectional, 1270nm Tx / 1330nm Rx, 40 Km, Simplex LC SFP+ (must be paired with 10GB-BX40-D)	1	\$2,098.50 \$2,098.50	\$2.098.50	\$4,524.45	\$4,524.45	\$4750 A4	\$4,7730244 \$4,7730244	\$2,765.00	\$2,765.00
FIBER OPTIC											
EQUIP		ICED DI LICCARI E CORDER CARLE 1M	32	N#\$36.00	\$1,152.00	\$77.62	\$2,483.84	45 <b>8</b> 1\37,80	\$2,603,84	\$38.00	\$1,216.00
	10GB-C01-SFPP 10G to Dark Fiber	SFP+ PLUGGABLE COPPER CABLE 1M  These two cables connect to	32	\$0.00	\$0.00	\$0.00	\$0.00	\$\$\$6.00 as	188 SO 00	\$0.00	\$0.00
	10G to Dark Fiber	10 GBASE-LR SFP+ 10K SM OPTIC	32		\$19,152.00	\$1,290.60	4	A\$1,352,776	because of property of the second	\$38.00	\$1,216.00
	10GB-ER-SFPP	10GBASE ER SFP+ (40K)	32		*\$57,552.00	\$3.872.55	\$123,921.60				\$88,480.00
	10GB-ZR-SFPP	10GB 80KM SFP+	32	-15.55011001110-15.5501100-5710011000-50101	\$124,752.00		\$267,383.36				\$122,080.00
	17300	Summit X670-G2-72x-Base-Unit	32	\$6,399.00	\$204,768.00		\$438,159.68				\$364,800.00
	17310	Summit X670-G2-48x-4q-Base-Unit	32	#\$5,796.00 W	\$185,472.00		\$397,001.60				\$422,464.00
	17131	Summit X670 Series Core License	32	#\$1,798.50 m	\$57,552.00	\$3,839.51		\$4,024,42		7,	
	17133	Summit X670 MPLS License	32		\$38,352.00	\$2,558.61	\$81,875.52	\$2,681.83	\$85.818.56		
	16499	Summit X670 3rd Party Optics Lic (40G)	32	\$\$568.50 MB	\$18,192.00	\$1,213.66	\$38,837.12	Service Co. C.	\$40,707,52		
	17134	Summit X670 OpenFlow FeaturePack	32	#3\$1,798.50 #	\$57,552.00	\$3,839.51	\$122,864.32	\$4,024,424	\$128,781.44		
	17135	X670 Multimedia(AVB) Feature Pack	32	\$898.50	#\$28,752.00°	\$1,918.15	\$61,380.80		\$64,336.96		
	17136	X670-G2 Timing 1588 PTP	32	\$298.50 4	<b>\$9,552.00</b>	\$637.25	\$20,392.00	#\$667.94 W	\$21,374.08		
	10925	Summit 550W AC PSU FB	32	2\$178.50 H	\$5,712.00	\$384.92	\$12,317.44		\$12,910.72		
	10926	Summit 550W DC PSU FB	32	\$238.50	#\$7,632.00 <sup>®</sup>	\$514.30	\$16,457.60	\$539.07	\$17,250,24		
	10927	Summit 550W AC PSU BF	32	福納\$178.50 增加	W\$5,712.00 #	\$384.92	\$12,317.44	##\$403.46##	\$12,910,72		
	10928	Summit 550W DC PSU BF	32	\$238.50	\$7,632.00	\$514.30	\$16,457.60	\$539.07	\$17,250.24		
	17111	Summit X670 Fan Module FB	32	\$148.50	#\$4,752.00 F	\$320.22	\$10,247.04	\$335.64	\$10,740,48		
	17112	Summit X670 Fan Module BF	32	\$148.50	\$\$4,752.00	\$320.22	\$10,247.04	\$335.64	\$10/740.48		
	10GB-BX10-D	10Gb, Single Fiber SM, Bidirectional, 1330nm Tx / 1270nm Rx, 10 Km, Simplex LC SFP+ (must be paired with 10GB-BX10-U)	32	21 5898,50 21 5898,50	\$28,752.00	\$1,937.52	\$62,000.64	\$2,030.84 \$1,030.84	\$64,986,88 104,084	\$724.00	\$23,168.00
	10GB-BX10-U	10Gb, Single Fiber SM, Bidirectional, 1270nm Tx / 1330nm Rx, 10 Km, Simplex LC SFP+ (must be paired with 10GB-BX10-D)	32	\$898.50	S <del>y</del> 28) 7(52≇0,0).	\$1,937.52	\$62,000.64	52,030.84	564,986,88	\$724.00	\$23,168.00

CATEGORY	ITEM NUMBER	DESCRIPTION	QTY	PC Solutions	8 Integration	Dannatek, Inc.		Synerget	es Despinels	Extensys, Inc	
	10GB-BX40-D	10Gb, Single Fiber SM, Bidirectional, 1330nm Tx / 1270nm Rx, 40 Km, Simplex LC SFP+ (must be paired with 10GB-BX40-U)	32	(3/2/12):170	Size LED (II)	\$4,525.19	\$144,806.08		DE WAR	\$2,765.00	\$88,480.00
	10GB-BX40-U	10Gb, Single Fiber SM, Bidirectional, 1270nm Tx / 1330nm Rx, 40 Km, Simplex LC SFP+ (must be paired with 10GB-BX40-D)	32		ige in state	\$4,525.19	\$144,806.08			\$2,765.00	\$88,480.00
	WS-AP3935	Wireless Access Points	60	<b>验底35850效应</b>	8521510000	\$773.02	\$46,381.20	2872027	45.43 W.55 W.0	\$265.00	\$15,900.00
	WS-AP3715i	Wireless Access Points	30	機623970個	#657   91100	\$516.89	\$15,506.70	\$\$54178	\$16,253,40	\$265.00	\$7,950.00
	WS-AP3825i	Wireless Access Points	10	\$283.50	\$2,835,00	\$611.34		AND THE PROPERTY OF THE PARTY O	\$6,407,90	\$265.00	\$2,650.00
	WS-APCAP-25	Wireless Access Point License	100	<b>弹簧\$898</b> 第50 <b>操</b>	\$89,850.00	\$1,918.15	\$191,815.00	£\$2,010.53	\$201,053.00	\$4,763.00	\$476,300.00
	WS-C5210	Wireless Controller	1	\$8,098,50	#\$8,098.50 #	\$17,320.48	\$17,320.48	\$18,156,37	\$18 156.07	\$11,908.00	\$11,908.00
		T	otals:	<b>排除數值數</b>	**************************************		<b>建筑地外原性\$4,641,314.19</b>		\$2,885,765.00		
	Signed Bidder Prefe	rence/State/Percentage:		AND	ica ili ili ili ili ili ili ili ili ili il	Alabama		電響器製版Mississippi 前層機能		Florida	
	TOTAL INCLUDING	BIDDER PREFERENCE (If applicable):		<b>化新维新维度</b>	N/A N/A		臺灣市場 N/A複数部 基		N/A		
	Balance of Line Disc	count		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	50% 2%		多等产的联制32%如身际资源		None listed		
	Bidder provided proof	Bidder provided proof of being an authorized re-seller for proposed equipment?			<b>公司的</b> 的符号。	No		SAME CONTROL SAME CONTROL		Yes	
	Bidder completed E-Rate Participant Form?			<b>CARRESTONY</b>	S#蒙特特特制	Yes		CECHICALINY SONE WITH PARTY		Yes	
	Bidder completed Vendor Information Form?			<b>计算机 数据数据数据</b>		Y	'es	<b>建筑设施沟</b> 的	Yes with the	Yes	
		ustomer References Form?		K THE W		1	No		Yes as Mark	Yes	
	Signed Bid?			The Second Year		Y	'es	* ** ****	Yes all Yes		es

Offers from the vendors listed herein are the only offers received timely as of the above opening date and time. All other offers submitted in response to this solicitation, if any are hereby rejected as late.

#### BIDDERS WHO BID 'NO BID': NONE

NON-RESPONSIVE BIDDERS: Dannatek, Inc.-Bidder did not comply with requirement for being an authorized reseller and submitted a blank Customer Reference Form and an incomplete vendor preference form.

#### **RECOMMENDATION FOR AWARD:**

**Function** 

Committee:

Eric Mitchell

**Dustin Keith** 

Bill Hagan

Brandon McSween

Committee recommends award to the lowest responsible and responsive bidder, <u>PC Solutions & Integration, Inc.</u> All items will be purchased at fixed price as needed throughout the contract term.

**FUNDING** 

<u>Fund</u>

Object

<u>Center</u>

**Project** 

General Funds

5150

POSTED: 3/2/2016 3:00 PM CT

<sup>&</sup>quot;Failure to file a protest within the time prescribed in Florida Statutes 120.57, Florida Statutes, shall constitute a waiver of proceedings under Chapter 120, Florida Statutes."